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�„§%�c§c�X�J�cJ�ú�“��ůňc��úxJ�0c�“c�J�J�c�x�„�%��ůňc��“„�I��0c�x�ňF§�cú���%�ů�X�0c%§úxc
�����ůIc�„§%�0c�“c���§ůx��J�Xc%“ňxcx�xšJ�ůňc§c„§F��ůňc�„§%�c�“c�XFx���c��“„“J�ůňc��xc
��“F�cJ§�FJ�J�c����c§c�x�IJJx���c���F��§%�ů�ůňc�c���xc�XFx���0c§c�xc�xc„xš�c%“%�c�F§�Jx��Ic§c
„xš�c��§Jx�“Jx�c��xc§�ůňI�§ůIr

//2t2c V�x„��§%�ů�c�x�ňF§��c�c��“�“%J�J�Xc�„§%�c�c���xc�XFx���c�c��%IXúx�c���§Jx�“J�0cú�“��c
xš�§ň�%�c��§%x�§J�cIJÚx�X§ů“c§cxšůňx„J�c�§%“X����r

//2r2c V�x„��§%�ů�cJ“J�cx����J�Jc�ů“F§c§JIc�����Ic�x��x��I�cJ§c��“��cx�xš�c��„J�c�“c���ůňc����0c§JIc
��„J�c�“c���ůňc���§�ú�c�F�Jx�ů�ůňc�c���xc�XFx���c§c§JIc���xc�XFx���c%§úxců“F“úr

//2/62c O“�ú“��cúxX�JIú§ů“cX“�Ic�XF��J�XIc���§J§XIc��ú§%�ů�c�“c���xc�XFx���cX���cš��c��IJ�J§c
�c���“XJ�cÚx�X�0cJ“J�PFIc�c�“���c�XFx���c��“„“Jxc���Fx�J�c%IJ§ú0c§cX���cš��c„x���“J§c
x�xšJ�cJ“šxc��x���“„JIů���Xc„x�x���“J�c�x��x�J�c���IFú�cJ§c§„�“��c��“„“J�c�c��ňF§��c���xc
�XFx���rcOc����§„�c„x���“J�c%§ú�úxFIc���“XJx��Ic�“F“Ú§�“XcJ“šxc“PX§IF“XcX���cš��c
x�IgIJ�Fc„xú�X“J��c�cFI��IJJ�c�x„xš�c„x���“Jc§„�“���x�Icx�xšJ�cJ“šxc��x���“„JIů���Xc
„x�x���“J�c�x��x�J�c���IFú�r

//2//2c SXF��J�c���§J�c�%“„J��§%�c��§�I„F§c��xc„x���x��J�c���%“XJ�ůňc���“XJx���c�§ú0c�“c���“XJx��c
�“c�c����§„�c�xůň�šJx���c�IcJ“„x���I�“FJx��Ic�x�§��%“c�§c„x���“Jx�cJ“%�x�„�%Ic��“��Xc
��§ůx�J�Xc„J“Xc�xc%“%�Xcx„“�F�J�cJ§c§„�“��c��“„“Jx�c�c��ňF§��c���xc�XFx���0cJ“„x����PFIc
„��ň�c���§J§c���“XJ�cx�J�X“J�cxc�X�J�c§„�“��0c§c�xcš“�cxňF“„�cJ§c�x0c�„§c�“c§„�“���cJ§c���xc
§„�“�“c�„���%“c§c���IFú�c����“„J“r

hjj2p Ú�—,ůp�žX��—�(�p���z(�

/02/2c SXF��J�c���§J�c�“c„xňx„F�0c�“c���§�“úc�“c�XF��J�ňxc���§ň�c�§JIú�c�c��ůň�xc����§„“ůňt
§/c ��FJ�J�Xc��“ůňc���§�ú�c��„J�c§c��§�0
š/c „xňx„x�c�XF��J�ůňc���§Jc��Ic���%“XJ�Xc���x�J�J�c��“FJ�c��J§Fx�“J�ůňc

§c��xú§�§�“FJ�c„xFx�“J�ůňcJ�úF§„�cú“c„JIc��JIú�c�XFx���0
ů/c %“„Jx���§JJ�Xcx„��x��“J�Xcx„c�XFx���c��xc%“%�c�x„��§�J�c�x���“J�0
„/c %“„Jx���§JJ�Xcx„��x��“J�Xcx„c�XFx���cú���%�ů�Xc�c����§„�0c�“c��x„��§%�ů�c��“„Fc

�cJ§š�„ů“cIJÚx�X§ů“cJ“šxc„xúF§„�0cú�“��cJ“x„�x��„§%�c�ú��“�Jx��Ic§cX�F�cJ“šxcXxňF�c
X��c�FI�cJ§c���F“„“úc�§„��§ů�ňxc���“J�0cJ“šxc�x���“J�c�XFx���0

“/c %“„Jx���§JJ�Xcx„��x��“J�Xcú���%�ů�ňxcx„c�XFx���0c�c����§„�0c�“cš�„“c���IcX§%“�ú�c
��x„��§%�ů�ňxc��ňF��“JxcIJ�xF�“J�J�c���“J�0c�cJ�X�cš�„“c��„�Jxc�x�ňx„J���cxc��§„ú�c
J“šxcš�FPFIc���Ic��x„��§%�ů�X�cIJ�xF�“J�J�cJ���ňc�§X��J��c��xcJ“„x��§�“úcX§%“�ú�c
úc�ň�§„�cJ�úF§„�cIJ�xF�“J�J�ňxc���“J�0

/0202c SXF��J�c���§J�c�“c„xňx„F�0c�“c�x„��§�J�Xc�x���“J�Xc�XFx���c�“c���§J�c��x„��§%�ů�ňxc�“c
�X��F�c�cčHHčcx„��rcdcmbu0c�“c�x��X�c��„xX�t

§/c ��x„F“J�c�cx„“��„�J�Xc�šx��cxc��ů“cJ“�cdHc„J�0
š/c J“„x„��“J�c�%“„J§J�ňxcXJx�����0c%§úx��IcJ“šxc„��ň�c�šx��0
ů/c ��x„F“J�c�cx„���§J�J�Xc�§„cxc��ů“c%§úc9Hc„J�r

C



hjjj2p Ú! ( V —!p z— V—

/-2/2c SXFx= §c%“c ňx x “J§c “c0p B I5ů&ůňcxcIp5 §J4ůň0c;cJIůň?cú§?„BcX4c(F§ Jx5 cx IgIJ4F=rc
V x„4 §%&ů&cxš„ ?&c%“„“Jc B I5úrc:“„“Jc B I5úc%“c( xc(x %“š=cú=(=%&ů&ňxr

/-202c SXFx= §cXF?“cšB cX)J)J§c Ic„x(FKx 4J§c ;4%“XJ)cx„5x=ňF§5“JBXIc§c(x„“(5§JBXIc
(&5“XJBXIc§c ;“5 =(J)cx &5Fx §JBXIc„x„§ ú 0cú “ >c5“c5 4 §%&c%“%&cJ“„&FJx=c5x= 45 &r

/-2-2c :“PFIcJ“šxc5 §J“PFIc5“cJ)ú “ >c=5 §Jx “J&c5XFx= cJ“(F§ J>c IcJ“N IJJ>0cJ“„x Bú4c5“c xc
x5 § J&ůňc=5 §Jx “J&0cú “ 4c;F5 4 §%&c(F§ J4c§cN IJJ4rcSXF= J&c5 §J c5“c c xX xc(%&(§„)c
;§ §;=%&c„xňx„x=cJ§ň §„I c=5 §Jx “J&cJ“(F§ J>c IcJ“N IJJ>cJx BXc=5 §Jx “J&Xc(F§ JBXc Ic
N IJJBX0cú “ >cJ“%F>(“cx„(x &„4c(F x„J)c;§XBEF“J>X=cN “F=c=5 §Jx “J&cJ“(F§ J>ňxc Ic
J“N IJJ>ňxr

/-212c SXF= J&c5 §J c( xňF§E=%&0c?“c%IXcJ“%5x=c;J4X c?4„J>c5ú= “ Jx5 I0cú “ >cš c=;§ %“J&c5XFx= c
F= x §F c§cš“ x=cJ§c )„xX&0c?“c c(FJ>Xc x;5§ň=cJ“5x=c “Eú“ >c( 4 J&c„F5F“„ú c(F Jx=ů&c

;c )„xX)c%IXIc=„§JBůňcJ“( § „I BůňcN„§%Frcm§c„Fú§;c5 >ňxc5x=ňF§5=c5cxš5§ň“Xc5XFx= c
(%I(x%=%&c(x„cJ&c5 >c(x„(I5 r

/-232c SXFx= §cJ§šB 4c(F§ Jx5 Ic§cN IJJx5 Ic„J“Xc%“%&ňxc(x„(I5=c(x5F“„J&c5XF= J&c5 §Jx=r

OcV §;“c„J“tc dc9cPHŘPcčHčč


